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1. Lmshp junhpubpp:

U. Lwith” nuppbp unkp ku oginugnpénud ddnwh kplp wdhubtbph winibkpp
gqpbnt hwdwp:

£, fwh” pighwimp nwe nbkh ddpwi kpkp wlhubph wintbibpp:
Q. Lwith” whquu kup gpnud 4 plubywip 1-50 pykpp gplynt hwdwp:
Y. Luih” whqud kup gpnud 0 pYwipwip 1-100 pylpp qpbipnt hudwnp:

2. N°p ljunph E wuljuund:

d gL 2
JBITJ 0T d

e




3. Lmsh ' inhpibpp: ®npdh’p hwoyly bEynpniughi hwodhsh ogimipjundp:

U. Qupnnihhtt yunpwuwnkg 40 prhp: 40 pihp yuwnpwunbnt hwdwp

oquuuqnpskg 11 Jup, 1 §q wypnip, hu jq owpwpuyug, 1 ppuukp, 4 dnt:
buspw it gnuiwp dwjuubg Twpnnihhi:

Qlhwugniguly

1 &nt 70 npud

1 4q wynip 400 npud

1 4q 400 npud

gupuipuijuq

1 ppuubp 250 npud

11 jup 420 npud
Lnusnid

Muwn.




F. Eyut wuwwnpwuwnkg 30 junnp yhggu: 30 junnp yqunpuwuwnbjnt hwdwp

oqumuugnpskg 5 judnp, Jhu jq yuihp, Eu g hwdh dhy, 1 jEnsniy, 1 ppuubp, 5
ant: Pspw’t qnudfwp dwipiubg Bjui:

Qlhwugniguly
1 dnv 50 npud
1 jadnp 200 npud
1 ppuubp 280 npud
1 JEwnsniy 320 npud
1 g yuthp 4000 npud
1 g hudh dphu 2000 npud
Lnwdnid
Mwwn

4. Zwohp wpnwhwynm pjui wpdtpp:

45:9+36:9+81:9+18:9+72:9+27:9+9:9+90:9

42:6+54:6+12:6+36:6+6:6+60:6+48:6+24:6




5. Lpwugpnt wnyniuwln:

EN EX El KN Kl KX KA KX Kn

10 | 20 || 30 | 40 [ 50 [ 60 [ 70 [ 80 || 90

100 |1 200 || 300 || 400 | 500 || 600 || 700 || 800 | 900

100012000/ 3000|4000 5000|6000/ {7000/ {8000 9000

1000

2458

5568

7889

9958

L£94U,

3Che

J&E

Uunze

on20

LEL UNS ULNUBUTUL QUSUSYP: 2UUUN2UY BRI




6. Gph'p twunprny phip:

988

1001
2507
4560
8452
7485

10. 405
12 609

25. 109
35. 112

58. 100

7. PUbpp quuunnph p ijuquui b wEdwl Jupgn:

4560, 1452, 7485, 4005, 6090, 7009

8. Lnishp uighplibpp:

U. Bpp Gnipgkup hp gnudwph fhup nydkg vupklhb, tpu dnn duwg 2000 npuad:

Nppw it gnudwp nikp Ynipgkip:

Lnidnud

Mun.




2. Ywhpp Ghwhhinht wlhpkg Uh putth juljws, huly Upudp' 5 twpghg: Gpp
Utwhhwup wyn swunhlubph fEup kg Gutwghl, btpu dnn duwg 7 swnhl:

Twhpp Utwhhwnht puth» juljus kp tdhpby:

Lnidnud

Mun.

Q. Bpp dhpyudp hp Ynudptnubph Yhup hjnipuuppkg puytputpht, hp Unn dbwg 10
ynupbn: Luth” §nudtn niikp Thyup:

Lnisnud

MNun.

. Jwupnnihnit munhljp b wuwwhlp qupptp thpght:Swnhlp tdhptg
pltinglibp, huy wwwhlp 4 Jqiing: Twpnnthht hp qupnbph Yhup wdhpbg
Uliught, b ipw Unn diug 5 quprn: Swnhlyp pulih’ phing tp ihply

Jwpnnthnit:

Lnidnud

Muwn.




9. Lpwugul] wwlwuny php:
4op5dud = dud
3owpwp 5op = op
2 nmuph 6 wdhu= wihu
4 dud 15 pnyk= pnuk
3 pnut 15 Jupjjutt = Juypljub

2 dwd15p = pnuk

10. PJtkpp quuurnph p wEdwh Yupgny:

5090, 5007, 5900, 9050, 9005, 9500

11. Lnish p uiphplikpp:
U. Uwyphlp qutg 1 4q hnudbtwn b 2 §q twuphby, Jdupkg punudtup 1800 npud:

bupw it wmpdhk Ukl §q btwphiep, kpk 1 4q Ynuptnp 800 npud k:
Lnwdnid

Muwn.

£. Ukphl qlikg 5 tulhun b 2 onlynjun, J&upkg pigundbip 1600 npud: Bupw't
wpdt Ukl kuljhunt, ek 1 onlnjunt wpdt 300 npud:
Lniénid

Mun.




12. @tpp gph p iunkpny:

5090

5007

5900

9050

9005

9500

13. Lnish p Jaiphpubpp:

U. 6 twnhwnh hwdwp EJut ydwupkg 480 npud, nphg htwnn dkl dwnhwh ghtip 20
npuiny tdwbmgu]: Nppw’t wpdbgun] Ukl dunhup:

Lnidnud

Muwn.




£.7 Inudptnh hwdwp dhjjudp Jdwptg 560 npud, nphg htinnn Ukl §nudbnh wpdtpp
10 npuiiny pwiljugun]: Nppw’tt wpdbgun] Ukl Ynupbnp:

Lnidnud

Mun.

Q. 9 Jupnh hwdwp Frwdhpep ydwpkg 4500 npwd, nphg htwnn dkYy Jupnh wpdtpp 30
npuiny tdwbugun]: Uydd nppw’tt gnidwp wybnp EJ&wphy wyy tnyh Jupghg 10 hun
qubnt hwdwp:

Lnidnud

NMun.

}. 6 hnishih hwdwp Ujkpp ydwpkg 420 npud, nphg htivnn Uk thnishijh wpdtpp 5
npuiny puliljuguy: Ujdd nppw’ it gnudwp whinp b J&wplky wyn tnyh thnishlhg 8
hwwn qubknt hwdwp:

Lnidnud

Muwn.
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14. @bpp tkpuyugpn 1 jupquyht gnudwptyhikph gnudwph nkupnd;
5090
5009
5900
9050
9005

9500

15. Zmqul’p:

Etpp Ukdwgpn't 10-n4, 100-n1, 1000-ny:

+10 +100 +1000

5090

5009

5900

9050

9005

9500

1R CUS NhTE] EU
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16. Pkpp thnppugpn 't 10-my, 100-n1], 1000-n1;:

-10 -100 -1000

5090

5009

5900

9050

9005

9500

17. Lnish p Jainhplibkpp:

U. Qlugpp Ukl dundnud 52 YU £ whghnud: 3 dudnid puth” §u Yubghh:

Lnidnud

£, Zhswindnpnp Ukl dundnud 20 Y £ wbginud: 5 dwdnud pwih” Y jutghh:

Lnidnud

Muwn.
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Q.. Uninnghljjujupp 500 YU wbwuguphp pulth” dundnud fubghh, bph Ukl
durdnid 100 Yu E wmbiglnid:

Lnidnud

Mun.

18.Zwolh p wpuwnpyuapp:
3x1=

3x10=

3x100 =

3 x 1000 =

7x10=
9 x 1000 =
4x 100 =
6x10=
8 x 100 =

2x 1000 =

13




19. Lmish ' juiphplbpp:
U. vmtnipp unwuguy tplnt wpln pwdwly: Unwghtt wpynniud jup 28 pudwl,

kpypnpn wplnnud’ 2 wiquid wbjh: dpuithg Judum]kg 35 pudwly: Luih’
pudul] Uhwg ppwtinipnid:
Lnionid

Mun.

£. Updwpwip uinuguy Epbp nintth plujuspuipihp: Unwehtt innuthnid fup 60
plujwdpwipihp, bpypnpng nnuhnud 2 whqud phy, pwl wowght wnnud: Gppnpy
nntthmud jup wjipwt plufwsdpupihp, npputt wpwght b kplypnpry winuhtpnud
dhwuht: Ypulbhg Jugun]tg 100 plujwspupihpp: Lwih” plajwspwpihp tiwg:
Lnidnid

Q.. Znquiwuhg wnwehtt opp hujuipkghti 50 g Junudp, huly kplnpn opp 3
wiqud wkh: Zujwpws junquidphg 70 g myuplkghtt pwinipe, hul] dhugusp
dwiljuuupinkq: Puspu i junudp ninuplghtt dwmtjuuywpunkg:

Lnidnid

Mun.
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20. Zwoyh'p qoudwpp:

40 + 40 + 40 =

50 +50 =

70+70+70+70+70=
20+20+20+20+20+20+20+20 =
60 + 60 + 60 + 60 =

30+30+30+30+30+30+30+30-=

21. Npnoh 1 pubgwpbnkbph puyghit wpdbpbpp:

21
27
19

V4
®
3

22

15




22. @nudwpp bbpluyugpn’t wpnunpyuigh nkupny. ophtiuly
40+40+40=3x40=120

50 +50 =

70+70+70+70+70=

20+20+20+20+20+20+20+20=

60 + 60 + 60 + 60 =

30+30+30+30+30+30+30+30+30-=

23. Lmsh p uighpitkpp kplyne wwppbpulyng:
U. 1lg ququpl wipdt 300 npuid, huly 1 §q pugoilyp’ 200 npuad: Appu’t gpuid £ ylnp
J&unk 2 §q ququp b 3 §q pwgnilju qguljnt hwdwp:

Lnidnid

I mupphpuly

II nuppbpuly

Muwn.

gt33tcU
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2. Nppw’t ngpud whwnp &ty 5 Yq mhlh b 4 §q Jupniagh hudwp, bpk 1 g
1n1hit wpdk 90 npud, huly 1 §q Jupniugh wpdk 70 gpuad:

Lnidnud

I muppbpuly

II muppbpuly

Mun.

Q. ULy qphst wmpdt 60 npud, hul] Ukl dwwnhwnt wpdt 90 npud: 5-wujut dwnhwn b

qphs quknt hudwp nppw’t gnidwp & hwpljundnp:
Lnionid

I nupphpuly

II nuppbpuly

Muwn.
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7. Ubs nnuhh dke w40 dnt, thnpp winuthh Uke fw 20 dnt: Lwbh” dnt w5 thnpp b 4
Ukd ninithh Uko:

Lnidnud

I muppbpuly

IT muppbpuly

Mun.

24. Lpuigpn 't uyu wnduu opugnygp b wyunnwupawith p hwipgbpht:

Iop Ilop IIlop IVop Von Vion VIlon

tpynipwpph | Gplippwpph | snptippwpph | hhugpwpph | nippwpe | pupwp | jhpwlh

18




Swpyu Bnwtwljt wjuop
tnwbwlp wnplnwn
qupnil wbdplinn
wdwn Spuinun
Lwdnwn
wontl
Uonionn
QUtn e
wdyudws

Opuwgnyghg oquujtyny] wuwnwupiwith p hwpgkph:

Ujuop wduh pubth’utt

dwnp wiluh pwih up Yihuh:

Eplly wiuh puih ulb bp:

Swubkplynt ophg wluh putth up
Yrhuh:

bup op wnwe wuuh pulh ul kp:

Cwpwpu h'ty op kp

Gpky

8np op wnwy

Cwpwpyw bty op Yihup

1 pwipwip
htwnn

19

Cwrwpyw opp

Epynipwpph

tpkppwpph

snpkppwpph

hhugpupph

nippuwie

2WpWe

Yhpwhh




25. Lpugpn 1 wwljwuny pbpp:
244= ¢
74g= g
ln="lq
4w= g
lg=Yg
5g= Ug
7000 4g= wn
4000 jg= wn
3000 = Yq
9000q= g
40049= g
9004g= g

26. N°n Yupnt Eynlyl) wuwnlkphg:

- - - — e
::.I_-:' [\.:::' '*-.l:::l '\_I.-:' .z .:I

20




27. ZmoUh p wpumnpyupp:
400x20=

60x50=

80x40=

9x50=

700x5=

200x90=

700x40=

600x70=

28. Lmush p uighpibpp :

U Zhig wugupunud wipdt 500 npuid : buspu 't gnudwip £ hwpljunp 7 wpunupunuily
qutnt hwdwnp :

Lnidnud

MNun.

£ Yunlhpp qlikg Ukl giquily b kpkp qpuwply , J&wpkg pipuidkip 3700 gpud : baspu o
wndb Ukl qiluwplp, et 1 qunuljt wipdk 700 npwud:

Lnidnud

Mun.

21




29. Munndh 1 5000 pyh dwuhi:

@hyp qphp wunkpny:

e 5000-u niuh hwqupul _ hwpmipul _ wwubyuly b dhwynp

o Zwplwh pbpl ki

e Zwgnpynn phl b

e Lwunpynn phyu b

e Ulbdwgpn't 50-ni:

e Ulbdwugpn't 500-ny:

e Ulbdwugpn'1 5000-n1:

e Ulbdwgpn't 1200-n1:

e Uhbdwgpn't 8000-ni:

e Ulbdwgpn't 10. 000-n4:

e Ulbdwgpn 't 20. 000-n4:

22




e ®nppuigpn 1 3-ni:

e ®nppuigpn 1 200-n4:

e O®nppugpn 1 2000-n4:

e Onppugpnt 3500-n1:

e Onppugpn 1 1900-n4:

° Canpulgpn'L 2546-ny:

e Onppugpnt 3000-ni:

e ®nppuignn 1 4960-n1:

Yuquh p wpnuwhwynmpniuibp, npnig wpdpp hwdwuwp E 5000-h:

23




30. Zwouh'p wpuwnpyup:
7x1=

7x10=

7x 100 =

7 x 1000 =

9x10=

4 x 1000 =

2x100 =

5x10=

7x100 =

3 x 1000 =

31. Lnish p utighpubpp :
U. Uuyphlp 14q kpulh b5 g ptdnph hwdwp J&upkg 3760 npud: b us wipdk 1 g
tyulp, tpt hwynth k, np dwyphlp 14q pudnph hwdwp 4gwupky £ 500 npud:

Lnidnud

Muwn.

24




£. Qphgnpp, &upkym] 2180 npud, gliky £ 1 nkanp b 5 iinuh dwnpwn: B oy wpdth 1

wnbwnpp, bpk huynuh E np 1 nintth dwnhwnt wpdt 400 ppud:

Lnidnud

Mun.

32. Zwoh p wpuuthuyum pyut wpdtpp:
30 x 40 =
20x 70 =
300 x 8 =
40x 90 =
8 x 700 =
900 x5 =
70 x 30 =
30 x 30 =
80 x50 =
20x 30 =
50 x50 =
90x 10 =

800 x 50 =

25




33. Lpwgpn 1 wwijuunn pdbpp:

6hg= ¢

244= ¢

Sw= g

3w = S ¢!

2g=  Yg

49=  Ug

2000 Yq = n

8000 Yyq = n
1000 q = i e]
8000 q = lg
300 4q = g
800 lyq = g

34. Lnish p utighplbpp :

U. Uuyphlp 5 Yg paidnphi 500 gpud bp J&wpky: 700 gpuating huspw o jaidnp upkih
| qhhl:

Lnidnud

Muwn.

26




£. 2 wypnup 2000 npuid wpdt: 8000 npuiiny putth” wypnd Jupbih b quby:

Lnidnud

Mun.

Q. 3 wjunnpniuny b 6 dwppuunwup dkpbwny gpnuwopohljubip Uwnkiwunupu
Ehwi: Udkl wjinnpniuh dbe 25 dwpy tp tunky, huly wikl dkpkuwgh dke 5 dwipn:
Lwih” vwpn bp Uwnbbwngupub kpulinipupw byly:

Lnisnud

NMun.

35. @Jbpp gph 1 vwnbpog:

4541

12.600 -

37.610 —

55.348 —

78.417 —

27




35.601 —

315.605 —

721.400 —

631.924 —

935.001 —

800.900 —

800.090 —

36. Ewiowiikpp Jepunuuuynph'p wjigbu, np uinugyh hupunnp wdkiundts
phyp:

48.951

67.924

70.971

50.800

28




37. Lushp Jabghplbpp:

1 hwuwnp 2h 5h
dwwnhwn 70 .
dnpdht 300
Unhs 200
Qnuukply 400
‘Unpuwwnbnp 2000
Punwupul 5000

Nppw't gmufup F huplunjnp
U.. Gplip dwwnhwn, snpu uphs, Ukl tnpuwwnbnp qubnt hwdwnp:

Lnidnud

MNun.

E. dkguphs, mp opwukpl, tptp punwput gpbnt hwdwp:

Lnidnud

Muwn.

29




38.01kpp gphp wwnkipny;

6500

7450

9998

10. 000

15.200

21.610

78.004

34.098

321.800

425.80

801.607

30




39. Lnwsh p junhpibpp:
®npdhp 1nwdl) tjupkiny:

U. Puquuhuply okliph mipupwbsnip huplnud bpbp phwlwpub ju: 0 phpopy
hwplynud k£ 27-pn phwjupuitip:

Mun.

4 N

- /

7. 8np npuypikphg pipupubigniph nbh by pnyp: Lwih” bpbuw o wy

puwnwthpnu:

MNun.

4 N

31




40. PJkpp Ubpuyugnpn 1 jupquyh gmuwpkjhibph gnuduph nbupn:

3567 =
5486 =
9000 =
10. 000 =

15.200=
21.610 =

78.004 =

321.800 =
425.080 =

801.09 =

41. Zwodh p wpnuwhuynnipyut wpdtpp :
4x1=

4x10=

4x100 =

4 x 1000 =

4x10.000 =

7 x100.000 =

32




14 x 100 =
140 x 100 =
32 x 1000 =
220x 10 =
25x 30 =
25 x 300 =

250x 300 =

42. Lmsh'p uighpibpp :
U.Upunip quikg 4 dwwnpwn b 2 upps : d4uphkg piqudbip 1000 npud : buspu’t wpdt 1

dwwnhwnp Ept 1 uphsp 300 gpud :

Lnidnud

MNun.

£, Luphki 4 jupluinuyh b 2 hpwphph hwdwp Jdwpkg 800 npuid : baspw it wipdt
1 jupyuwunulp, tpk 1 thpwpihpp wpdt 200 npud :

Lnidnud

Mun.

33




43. Lpugpn t winiuwhh nuinupl Juimulikpn :

Lwjunpynn phyp | Bhyp Zwgnpnnn phyp

7000

8000

3270

1800

12.000

837.800

204.100

500.000

44. Jkpp qph p pYwiywiitkpny;

2npu hwupnip hhunitthhig hwqup Epynt hwpnip Jupuntinie

tpint hwpynip hhuniiytg hmquip nip hwpnip puwthhig

Jtg hwqup jnp hupnip puwtdkly

puwiykg hwqup nip hwpnip nuutdby

34




hhtig hwqup hhtig hwipjnip

wnwup hwuqup g hwpnip nipuniunipe

tpYynt hmqup Gplnt

snpu huqup lmuutigkg

45. PJkpp ukphuywgpn 1 Jupquyht gmudwpkihtkph nkupnd.
128 223 = 100 000 + 20 000 + 8 000 + 200 + 20 + 3

659 300

456 709

408 963

104 236

477 496

147 658

233 659

100 306

106 002

35




46. Lpugpne :

U. Qph'p wyb ykguithy phyp, nph dhunpp 3 E, hupgnip hwqupundnpp' 7, hul dntu
plulipwiibkpp’ O:

P. Q~pb'p wjl Ykguthy phyp, nph mwutwynpp 2 L, hmqmpwu{np]}‘ 1, hulj Ujn1u
plwlowbikpp 7:

Q. Qcpb'p wj Ykguthy phyp, nph mwubtwynpp 9 £, hwpnipuynpp 5 £ hmqmmean‘
1, huly Ujniu pwbpwikpp O:

47. Muwndh'p 10000 pih dwuh:

1. [Bhyp qpb'p wnwntpny.

2. Ukplyuyugpn 1 jupquyhlt gnudwpbyhibph gnudwph nkupnd

3. Zwplhwt pytpt Eu

36




4. Zwonnnnn phyt k

5. Lwunpnnn phyt k

6. Ukdwugpn t 9 000-n1, 10 493-n1], 7329-n4].

7. ®nppuigpn 't 46308-n1, 9372-n1], 509-n1.

8. Ukdwgpn 1 100 wquud.

9. ®nppuigpn t 10 whquud.

10.Bh plwipwbitkpny Yuquh p htwpunnp wikbwgnpp Jeguithy phip.

11. Pyh puipwbikpn] fuquh p htwpudnp wdkiwdks Jkguithy php.
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12. P pubpwbikpn] juquhp 5 Yhguihy phi.

13. Yuquwsny pyYtpp nuuwynph p wddwb Jupgnd.

14. Ymquwdn pylpp puuwdnph p tjuquui Jupgny.

48. Lmsh p uighpubpp:

U.Zkswlynpni I oplt wiigun] 115 YU &wlwuquiph, huly I opp 15 Yu-ny wibyh, puil I
opp: III opp hspw’t Swhwyyuiph whgu] hswin]npnp, kpk hwpnbh b, np bpbkp opnud
dUhwuhti wmuguy 400 Yu:

Lnidnid

MNun.

2. Zuglyp nlthg noipu yun] dundp 11:35 b 45 pnybhg hwuw] quypng: dwdp puthup o
Zuyjp uypng hwuu:

Lnidnud

Muwn.
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49. ZmoJh p wpunuwhuyinm pyut wpdtpp:
400 x 20 — 30 x 200=
500 x 40 — 20 x 900 =
300 x 200 + 40 x 50 =

900 x 40 — 60 x 600=

50. Lnish p fighpubpp:
®npdh p sty Wyupkyny.

U. Ownuwwunniuljht dh owpph ypu mjightt 20 pntth: Lhijwt wnultg yipehg hwodws
10-pyy pruthp: UYqphg hwpyws n'phpnpn pougip nblkg Uhlw:

NMun.

39




2. Jhyuip uljubg hwolk| 4-hg kpkplbpny 4, 7, 10

Thyudp:

Mun.

51. Qunh p withuyn phyp:

40

, ... 31: Lwh” ph wpnwumikg



52. Mundh'p 100 000 pyh dwuhi:

1. Bhyp qph'p wnwnkpny.

2. Ukplujugpn 1 upquyhtt gnidwpkihbph gnudwph nbupny .

3. Zzuplwt pYtpt ku

4. Zwonnnnn phyu k

5. Lwjunpynn phyt k

6. Ukdwgpn't 102014-n1, 27013-n1, 2390-n1.

7. ®nppugpn t 10. 308-n1, 92372-n1, 1509-n1).

41




8. Ukdwgpn 1 100 whqud.

9. ®nppugpn 1 10 whquud.

10. Bh plwipwbitkpny Yuqdh p hwpuynp wdktwhnpp Jkguithy phip.
11. Bh plwipwbitkpny juquh p htwpuynp wdktwdks Jkguithy php.
12. @h pYwtipwitkpng juquhp 5 Jbguthy phy.

13. Ywuquwdn pUlpp puuwdnph p wdwb fupgny.

53. G p wwljwuny phip:

»
CR o v '&;«-
{
. ¥ [ ¥,
£ ’ 4
[ b ¢ {

|
!

-
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54. Lmsh ' fainhpp:

Nppw’t npud whwnp E JEpunupdih qudwnnnp Zugyhl, bpk tw quk) £3 4q jubdnp, 3
lg ntnd, 2 §q nwg, 4 §q uvwnp b Jwdwennhtt nyl) bkl hwwn 10 000 npudwiing

prpunpu:
Utjuunudp 1 g-h wmpdbtpp
uidnn 5 x50
Thnd 4x100+3 x 20
Swd 70 x 4
Uwynp 5x60+4x10
Lnisnid
M.

55. Zuoyh  wpnuwhwyinnt pyut wpdtpp:
5x10+2x17 =
25x(10+2x5) =

(25-5)x 30 =

45x (16 -2x3) =
5x(80+4x5)=

80:8x(4x9)=

43




56. N'n wyunnlykpp whwp b 1huh nunuply Jutulubpnid:

4 . .

H A
® @ B

A\
A |l
A R @

57. Zwoyh'p qoidwpp:

15479 + 497802 =

44




154978 + 95412 =

450897 + 548977 =

247009 + 489726 =

58. Munndp p 25. 500 pih dwuhic:

e Bhypgphp wwnbkpny:

e 25500-uniuh _ wwulyul b __ dhwynp
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Zuplwl pbpt b

Zwgnprynn phyt b

Lwjunpynn phit b

Ubkdwigpn't 24 789-n1:

Ubduigpn 1 201 970-n4:

Ubdwigpn 1 90 784-n1:

Ubdwigpn 1 101 472-n4:

Ubduigpn 1 800 064-n1:

Ubdwugpn 1 300 747-n1;:

®nppugpn 1 3036-n1:

®nppuigpn 1 20 101 - n:

®nppugpn t 20 002-n4:
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CanpulgpnlL 19 471-ny:

®nppuignn 1 3048-n1:

Ubduigpn 1 10 whquud, 100 whquu:

®nppuigpn 1 10 whiquid, 100 whqud

Unpugpn 1 Uhlish Uninuljw nwubywlp, huympyulp, huquppuyp

Ph pYwlpwittpp JEpuywuwynph p wgbybu, np wnwbue htwpunp

wdktwthnpp phyp:

Eh pluipwbikpp JEpunuwuwynph p wyiybu, np uinwbwu htwpudnp
wdktwdbs phyp
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59. Lpugpn 1 wyniuwlh puinupl Juiqwlubpp:

Gwjunpynn (Fhyp hwynpnnn phip
rhip

14154

320295

502094

940100

140000

850091

60. Zwoh 1 wpunuwhwyinm pywi wipdbpp:
600 x 40 =

800 x 300 =

9 x 7000 =

3000 x 40 =

600 x 60 =

2500:50 =

63000:900=

32000:8=

480000:6000-=

270000:3000=

48




61. Zwouh'p wupphpnipyniip:

401547 - 90809 =

400978 - 54129 =

800971 - 297079 =

470092 - 297026 =

SEUUT Nrgurni sU




62. Lnish p fatighpubpp:

U..9 thnishijh hwdwp Untwt ydwpkg 720 npud, nphg htnn dkY thnwshh ghtip 20
npuin] tdwbugun]: Nppw’ o wpdhgun] Ukl qphsp:

Lnidnud

Mun.

£.9 | wunuunulh hwdwp dhpyudp Jdwptg 810 npud, nphg htiwnnn Ukl
wunuunuiljh wpdbpp 10 gpudng publjugun]: Nppw’t wpdbgun] Ukl wwnuunulp:

Lnidnud

NMun.

Q. 7 Jupnh hwdwp twdhpep yd&wupkg 3500 npwd, nphg htwnn Ukl Jupnh wpdtpn 30
npuiny tdwiugu]: Uydd nppw’ t qnidwp wbwnp £ Jgwpty wyy inygb qupnhg 10 hwn
qubknt hwudwnp:

Lnidnud

Mun.
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}. 8 thnishih hwdwp Ujkpp ydwpkg 480 npwd, nphg htivnn Ukl thnishijh wpdtpp 5
npuin] puiljuguy: Uydd nppu’tt gnudwp wbnp £ J&uplk) wyg iyl thmshlhg 12
hwwn qubkjnt hwdwnp:

Lnidnud

Mun.

63. Lpugnn 1 wyniuwlh punupl Juimwlibpp:

Uhpg 100 gpuuh wipdtpp | 200 gpud 500 gpud 14qg
Gruy 80 npud
Lwphly 60 npud
Thnd 40 npud
uudnp 35 npud

64. Zuoyh p wpnuwhwyinntpyut wpdtpp:

640 : (48 : 6) + 70 : (700 : 70) =
360: (42 :7 ) — 80 : 80 x 60 =

360x(42-7x6)+87:1 =

51




65. Zulkuwnh p b nh p hudwwywinwupwb Gowip:

4500 : 50 4500:5

6300:9 63000 : 900

3200 : 80 3200: 8

72000 : 9000 72000 : 900

210000:3000 210000 : 300

10000 : 5000 10000 : 500

66. Lnish . juiphpitbpp:

U. Qupw yunpuunbint hwidwp wwnhlp gk E4 nnuh jupug: Zugdh'p, ph pubh
Yhingpud Yuipwg b quby bw ghuktwny, np 1 winuh jupwugh quigywsp 500 gpud b

Lnidnud

Muwn.

£. Tnlnjuny yunpuunbkint hwdwp duyphlp gl k6 winuh Julun: Zwodh'p, ph
puith Jhingpud juljun E quby i ghntuwny, np 1 intth juljunjh quiqwsén 500

qpu E:
Lnidnid

Mun.

52




Q.. 500 qpuitl pwpwpujugp 200 npuad E: Nppw’t gnidwp & hwpljudnp
1 §g pwpwpwywq qubknt hwdwp
Lnionid

Mun.

3 §q pwpwpwyuq guknt hwdwp

Lnidnud

Mun.

67. @nh n w fuqkihit b uinwph p unnignid:

Zhop p. Lughihtt junwiuu, kpk hwitkjhin gnudwpbu nwppbpmpjutp:

- 34007 = 34900
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- 240709 = 12008

- 67000 =21000
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- 30047 = 12840

68. . Lpugpn 1 wyniuwlyukpp:

A 400 600 700
B 50 60 100
axb+a:b

A 2000 800 5000
B 4 400 50

axb-a:b
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69. Lnish p fatighpubpp:

U. typngh jnquyjwuquih onipp gunud kb Eplnt unnnduljny: Unweohtt funnnquny
19nht 4500 1 on1p, hpllnpr}nq‘ 3 whquu wykih: Cugudkup npp_ulo'u onin 1gykg
nnuyuquith dke:

Lnidnud

Mun.

£. Tuwnupl opujuquh ke wnwoht unnnjulny 1gytg 1820 | onip, huly
tpypnpgny 140 1-ny wybih: Suyhubpp opbint hudwp wwwhyp win 9phg oginugnpstg
1570 1 onip: Nppuw i onip dhwg opuuquibinud:

Lnidnud

NMun.

70. Nuwndp p 42000 pih dwuhi:

@hyp qph'p wnkpny:

42000-u nith __ wwutyul b _ dhwynp

Zuplwt pkpt ki

Zwgnprynn phyl b
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Lwjunprynn phit b

Ubbswgpn't 40789-n1:

Ubdwigpn 1 21970-n4:

Ubduigpn 1 97084-n4]:

Ubdwigpn 1 101470-n1:

Ubdwgpn 1 500064-n1:

Ubdwgpn 1 100747-n1:

®nppugpn 1 30036-n1:

®nppugpn 1 20101 - ni:

®nppugpn 1 20009-n1:

®nppugpn t 10940-n1:

®nppugpn t 13048-n1:
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Ubdwgpn 1 10 whquid, 100 whqud

®nppwugpn t 10 wquid, 100 wiquid

Ynpugpn 1 dplish dninwlju inwubyulyp, hugnipjulyp, hwquppulp

Eh plupwbitkpp JEpunuuwynph p wyiybu, np uinwiwu hwpudnp

wdktwthnpp phyp:

Eh pluipwbikpp JEkpunuuwynph p wyiybu, np uinwiwu hwpu]np
wdktwd ks phyp:

71. Qunh p hwtkhit b juinwph p uinignid:

Zhop p. Zmukht uinwiuy, bpk ]wuqkihhg hubbu nuppbpnipgniin:

40002 - = 3608
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62001 -

= 4700

64900 -

= 20087
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200000 — = 16500

72. Lnish p uighpubpp:

U. 1 jq dpqujhtt wmngut yuwwnpwuwnbint hwdwp ogunnuugnpsyty £ 250 g judnp, 430
q tuphie b Lyuly: Nppw’t Byuly | oquiugnpdyby:

Lnidnud

Mun.
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£.1ljq mngubp wqupnibwlnd £ 460 g funwdp, 280 ¢ ququp, 180 ¢ jubwsh b
kqhyunugnphii: Nppw’t kghupinugnpki | oquuugnpéty:

Lnidnud

Mun.

Q. Uuyphlp 6 ninuth uptwonnh b 1 nintth jupwugh hwdwp 4dwupkg 1530 gpuad:

B’y wpdh 1 ninuth Jupugp, kpk 1 nnuh juphwynnt wpdk 200 npud:

Lnidnud

Nun.

73. Lpugpn 1 wyyniuwlyp:

Gnidwpkh

25410

14020

34510

45912

14570

64100

Gnidwpkh

24111

21877

35614

Gnidwip

30000

45000

45000

50000

42004

23000

72300
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74. B’y ph1 whup k1 hih hwpguljwh bywith thnjuwphi:

2x$+ $=11

$ @
3xV-Y=9

220 2

75. Zmph p wpunuthwyinmpywh wipdtpp:
6545 + 3218 -3 x 700 =

235 x 3 — 4200 : 60 =

8100: 90 + (35x6): 7=

3500 : 70 + (240 x 10) : 8 =

76. Ymquh p wpinuwhwyinnipyniitbp.

U. 3 hwn 5 -0 unnwugh p w.2, p. 5, q. 0, 1. 4:
£. 5 huwn 3-n] wnwgh p w. 4, p. 13, q. 3, 1. 31:

Q. 4 hun 4-n unwghn w. 3, p. 1, q. 10, gq. 6:
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77. Tunndh p 84300 pih dwuhis:

e Bhpqphp wwnkpny:

e 84300-1nituth __ wwulywl b __ dhwynp

o Zwplwh pbpl ki

e Zwgnpynn phl b

e Lwunpynn phyu b

e Uhbdwgpn't 41789-ni:

e Ulbdwgpn't 13970-ny:

e Uhbdwgpn't 72084-n1:

e Uhbdwgpn 1 201470-n4:

o Uhbdwgpn 1 440064-n1:

o Uhbdwgpn 't 240747-n1:
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®nppugpn t 30036-n1:

®nppugpn t 20101 - ni:

®nppuigpn 1 39009-n4:

®nppuignn 1 20940-n1:

Canpulgpn'L 11048-n4:

Ubdwgpn 1 10 whquud, 100 wihbquud:

®nppuigpn 1 10 whquid, 100 whqud

Ynpugpn 1 dplish dninwlju nwubyulyp, hugnipjulyp, hwquppulyp

Eh pluiowbikpp JEpunuwuwynph p wybybu, np uinwbwu hwpudnp

wdkbwthnpp phip:
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78. Gpynt pytinh gnidwpnp 54260 t: Ujn pdtinhg Uklp 19870 t: thlp wyy pybkph

wnwppbpnipinibp:

Lnidnud

Mun.

Eplnt ptph mwpppnipgniup 36540 t: Uy ptphg dklp 17520 E: Qnh'p wy pubph

gnidwpp:

Lnidnud

NMun.

79. Vyupmud phpius njuytkphg npnoh p mpupwissjnip Sumljh wipdbpp:

ore 902 o2

1200 npuni 1200 npuni 900 nypuni
|

G
Y

vAy
U YNRT BU LES <>
) 5
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80. Lpugnn © winiuwlyubpp:

A 800 900 600
B 50 30 300
axb+a:b

A 4000 1200 9000
B 4 300 30
axb-a:b

81. Lpugpnt wnyniuwljh npuumupl] Jubnuljabtpp:

1q 500 4q 23qg500q | 10Yyq 250 q

Bluy 1400 npud

Unlptim 2200 npud

Munuunuy | 2000 npud

<upu 800 npud

MNuunlipugpn’y, np nLhtiu 2500 gpud: Yjupnpuitw’n pn nLbtiguwd gnuiwpny gk

U. 1 4g by W Ytu Yq Ynbdtn

£. 2 4q hwpfuw b Yhu §g wyunwuinuy
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Q.. 1 jq 4nbdptin L Htu §g unuunuy

. Gtiu 4q Ynbdtin, Jtiu g unuuinuiy b 1 g Guly

82. Lpwigpn 1 wwljwunn pybpp:
4 owpwp — 2 owpwip 2 op =

2 muph - 1 mwuph 8 wlhu=

6 op — 2 opn 14 dwd=

9dud-2dud40 p=

4 n—-2n 30 Juypljub=

3wn-1wn3004qg=
2g-1g204qg=

64qg-34q400q=

5 U — 3 U 400 U =
7 U—2130ud =

4ud-2ud 3 dd =
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83. Lnish p fatighpubpp:
U. Uplnnud Yup 7 hq bdnp: 3 g 200 g jabdnpp Yhpwb: bipw o uudnp dhwg:

Lnidnud

Mun.

£, Uppunugnid fup 3 v wynip: 1 1 600 §q wynipp niqupljghtt iwbnie: buspw’a
wnip dbwg:

Lnidnud

Mun.

Q.. Phh Yshlnwd Jup 45 U ph: 30 U 20 ud-ny quwpl gnpstght: huspw 't ply diug:

Lnidnud

NMun.

. MEwnpnup 2 Yd swbwwywuphhg 1 §d 600 U-p wguwy hkdwthyny, dbwgud

Lwlhwwuphp nnpm): Pupw it fwhwuyuph MEnpnup nnpny whgwy:

Lnidnud

Mun.
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84.

Nunndh p 42000 pih dwuhi:

e Bhpqphp wwnkpny:

e 42000-uniuth _ wwulywul b __ dhwiynp

o Zwplwh pbpl ki

e Zwgnpynn phl b

e Lwunpynn phyu b

e Uhbdwgpn't 40789-ni:

e Uhbdwgpn't 21970-n1
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e Uhbdwgpn 1 97084-n1:

e Ulbdwgpn't 101470-n1:

e Ulbdwugpn'1 500064-n1:

e Uhbdwgpn't 100747-n4:
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e ®nppuignn 1 30036-n1:

. Canpulgpn'L 20101 - ny:

e ®nppugpn 1 20009-n1:

e ®nppuignn’t 10940-n4:
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e O®nppuignn 't 13048-n1:

e Ulbdwgpn't 10 whquid, 100 wtquud:

®nppuigpn 1 10 whquid, 100 whqud

Ynpugpn 1 dhlish dninwlju nwubyulyp, hugnipjulyp, hwquppulp

Eh pluipwbikpp JEpunuwuwynph p wybybu, np uinwbwu hupudnp

wdktbwthnpp phip:

Eh pluipwbikpp JEpunuwuwynph p wyiybu, np uinwbwu hwpu]np
wdktwdbs phyp:
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85. Zwoyh p wpunuwhwyinnipyut wpdtpp:
1200 300=

2500 : 50 =

6300 : 90 =

42000 : 700 =

56000 : 80 =

3600 : 90 =

256x7=200x7+50x7+6x7
3694 x 3 =
1420 x5 =
3450 x 4 =
2145 x 6 =

3748 x 2 =

86. Unwhh p phyp:

U. 9n1yq Ynp Enwtthy phd E hwpnipwdnpp 9 E nwutiwynpp 3 E:

NMuwn.’
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£. Mupnitwlnid k3 hwpnipjuly. 8 mwutywly, qnuygq L, thnpp k 122-hg:

Muwn.”

Q. Udktwdks puwnwihy Yhuwn phyt k:

Muwn.”

Y. Udktwihnpp ykguhy Euwn phyt

Muwn.”

G. Wdtibuwthnpp htiquitihy b phyb E:

Muwn.”

87. 0" Junpli k wuljwunid:
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88. Yuquh p wpnwhwynnipjuititp b hwoyh p gnidwpp:

{ o
L i L

[Fnpunpuu pwbwljp pwtiljp pwbwlp
Tran [dhwn b
4 huwn 9 huin 3 hwiin

I ' _ o 4 hunn 10 hun

Ig | 2 hun 3 hun 4 huin

» 5 huinn 7 hun 3 hwn
: 1 huun 2 huin 1 hun

Cunwdkup
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89. Lnush p juiphplikpp:

U. 5 g yupunndhih b 1 g unpu qubnt hwdwp hupluynp £ 1300 npud: I‘thuloh wpdk 1 g
Jupwnndhip, Epk 1 §q unjut wpdk 300 npud:

Loidmd

Muwn.

Nppw’tt gnudwp £ hwpljunjnp 10-wlwb Yhingpud Jupundpy b unfu gibine hudwp:

Loidmd

Muwn.

£. 3 ljq Yumuniph b 114q ququiph hundwp y&wptght 740 npund: buspw i wipdk 1 g Yumnunipp, bpk 1
g ququpb wpdt 140 npud:

Lnisnmd

Mun.

Nppw’tt gnudwp E hwpljunjnp 20-wlwh Yhingpud junuidp b ququip gikjne hudwp:

Lnisnd

MNun.
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90. Zmoh p wpunuhuynn pyut wpdtpp:

456 x 400 =

987 x 30 =

48 x 6000 =

348 x 60 =
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678 x 700 =

640 x 7 =

67800 x5 =

78300 x 6 =

20FR GULN BU *
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69000 x 4 =

94600 x 9 =

91. Npnoh p ympupwiisynip puiigwinbnkith wpdtpp b ohp’ hwdwyunuuuwui
puiownpbntup wuwnlykpbny:

YL Ol 4

750 npuni 400 npuui 550 npuni

4 N




92. Lnish p ftighpubpp:

Q.. Bpp Lupk hp gnidwph Yhup kg Ualughl, hp dnn dbwg 400 npuad: Puspw’t qnudup nilibp
‘Lupk:

Loidmd

Muwn.

. bpp Ywdhpp Jupnwg qpph bobph Yhup, diwg Jupnunt 80 ty: Lwith’ tohg tp Yuquws ghppp:
Lnionmd

Muwn.

93. Zwoyh p wpnuwhwyinnt pyub wpdtpp:

4500: 10 +(5000:100+5) x10=

6300:63: (400:8x2) =

32x (5x2)+(30x20+800:10) =

5000: (25x4x 10) =

500x(250:10:5)x 10=
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94. b’y ph b bu:
Bpluhs B, YEuwn EU, 5-ht wqunhly &, puwipwbtbphu gnudwpp 7 L

Mun.

Bnluho B, Ynp b, 3-ht wuwnhl Bd:

Mun.

Bowihy kU, Yhin kU, hwmnipunpu 2 £, nwubwdnpu 8, plwipwitbhu gnidwpp 13:

Mun.

Gnwthy b, §inp B, pudwiynid U 100-h, hwupmipwynpu 7 k:

NMun.

95. Zwoh n wpunwnpyup:
2300 x 6 =
1400 x 9 =
780 x5 =
39000 x 3 =
12000 x 8 =
40 x 40 =
300 x 20 =
200 x 70 =
80 x 600 =
90 x 8000 =
70 x 700 =
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96. Unyniuwljhg oqun]lyny pugpn’t wynuiuwlyp:

puiguptintt | 14q 21q 519 104q 30 4q 90 Yq
wpdtpp | wpdtpp | wpdbpp | wpdtpp | wpdpp | wpdtpp

Quipunndhy

Junudp

udpnily

nnnid

Sujuntin

ppnynih

puwbiowpbnku Jguntght Qukght ... Yq

Jupunndhy 6000 npud

Junudp 2400 npud

udpnily 3600 npud

nnnid 1200 npud

duljuntn 6000 npud

pnninih 3500 npud
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97. Lnish p fatighpubpp:

U. Yupuhp wjunndbpiiwt vjmtunud Ep juynywnh tinlthg: Zkwnn tpup
hunjwuwpkght: busn i

ﬁ—ﬁ?

M.
U.. Qupuhp dbpktwt wykh wpwg Ep ujwbnd:
£. Guuynywn dkpktwb wykh wpwg bp ujwbnd:

Q. Ukptuwtbph wpwgnipnittbpp hwjuwuwp Eu:

£. (fwuquhlp pnyphlh hwdwp tdkp qunpuuntg: Uja quignud L jupdhp, §inp
hwnwlny, duyu]king b pupdp nnuhnud: 0°p nnuhnd Eadbpp:

N1 N2 N3

Z N4

Muwn.
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98. Zmoh p wpnwhwynnipyub wpdtpp:

30x 10 =
70x 4 =
50 x 90 =
20 x 600 =
6000 x 30 =
500 :100 =
9000 : 10 =
350:7 =
6300 : 900 =

56000 : 80 =

99. Unwhh p phip:

U. 9nyq tpluho phy E vnwutwdnpp 3 £ b puquuywnhly | 4-hi:
M.

B. Mwpnitwlnud E 12 nwubyuly, YEuw E, thnpp k 122-hg:

Muwn.

Q. Udktwdks qnyq punwihy phyu t:

Muwn.

. Udktwthnpp Euwn tnwhy phyu

Muwn.”
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100. Hh p thuiljugdbip uyiugbu, np unwbwu huduuwpmpyn:
80-60- 40:0=79

80-60-40:20=22

80:40-20+20=24

80:40-20+20=2

101. Muudhp 206 400 pih dwuhi:

1. BFhyp qpb'p wnwnkpny.

2. Ukplujugpn 1 upquhtt gnidwpkihibph gnudwph nkupny

3. Zuplhwh pytpt Eu

4. Zmonpnnn phyu k

5. Lwijunprnn phyu k

6. Ukdwgpn t 112.014-n1, 78013-n1).
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7. dnppugpn 1 104938-n1], 23472-n4).

8. Ukbwgpn'1 10 whquud.

9. ®nppuigpn t 100 whqua.

10. Ph pYuipwiikpn] fuquh p htwpudnp wdkiwthnpp Yguithy php.

11. Pyh pubpwbikpn] fuquh p htwpudnp wdkiwdks Jkguithy php.
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12. Yuquwsny pYtpp nuuuwnph p wddwb Jupgnd.

102. Zwoyh p wpnnuhwynm pyut wipdbpp:

4800 : 600 x (20 + 4 x 20): 400 =

6400 : 80 + (70x30-50x 4) =

50 x 800 — 1000 : (25 x40 ) =

8000 : (160:2) +700 x 70 =

103. Lnish 1 Jatiphplibpp:

U. Gywl htiphwptbph ghppp uljubg Yupmuy wuyphih 3-ht b wyl JEpgwigntg dwjhup
2-ht: Lwih” kpwling bp wyn ghppp, bpk Glwh jupnnud tp wdkh op, opwiljwh 4 ty:

Lnidnud

Muwn.

£. [fuquplyp punpuqpph juunhputpp ujutg inist dwpunh 27-hg b wjwupuntg
wwnhih 10-ht: Lwith” juighp 1nwokg [ruquhlyp, Epb tw opuljut (ndnid Ep 10 jutighp:

Lnidnud

Mun.
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104. Spywd pytipp gpp’p mwntipny:

15495

35410

64600

97801

654187

485950

475100

650547

478001

524662

999 999

1 000 000
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105. Umyniuwlhg oquyny {pugpn i wmyyniuwlyp:

wnwplu

1 hwuunh
wpdbpp

5 huuunh
wndtpp

10 hwunh

wndtpp

30 huuinh
wnpdbkpp

90 hwiinh
wndbtpp

Uljpun

Ununhy

Lwinu

Udpuly

Uwunhwn

Ungqud
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Unwplju J&wnkg Qukg ... hun
Uljpuwn 9000 npud

Upwnhs 1800 npud

Lwtint 1500 npud

Udpuy 400 npud

Uwnhwnn 32000 npud

Ungqud 800 npud

106. Munndh p 674 820 pilh dwuhi:

1. Bhyp qpb'p wnwnkpny.

2. Ukplujugpn 1 upquyhtt gnidwpkihubph gnudwph nkupny

3. Zwplhwl pytpt Eu

4. Zmonpnnn phyu k

5. Lwijunpynn phyu k
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6. Ukdwigpn't 258.145-n1, 80813-n1.

7. ®nppugpn’t 40937-n1, 203451-n4].

8. Ukdwgpn 1 100 whquud.
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9. ®nppuigpn 1 10 whquud.

10. P pYwipwbikpn] fuquh p htwpudnp wdkiwthnpp Jeguithy phip.
11. Bh plwipwbikpny juquh p htwpuynp wdktwdks Jkguithy php.
12. Eh plwipwbitkpny juquhp 5 huwn Yhguithy phi.

13. Ywuquwdn pUlpp puuwdnph p tuquui fupgnd.

107. d1SU.))))

108. Spjwd pkpp nuuunnph p wquni Jupgny]:

15495
35410
64600
97801

654187
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485950

475100

650547

478001

109. N phu]in b:

Bpluhy B, Ynp BU, 8-h wuwnhl EU, pywipwttbphu gnidwipn 4 t:

MNwtn’

Bpluhs B, YEun EU, 9-h wuwnhl &, pyubowtubphu gnidwupp 9 L
N .

Enwthy b, §inp &, pmdwiynid GU 100-h, pyubpwtitphu gnidwpp 5 L
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Bnwhy BU, JEuwn G, pyubipwtiibpu tnyub Gu, pyutpwtubphu gnidwpp pudwtynid
E 9-h:

M.
Lwnwithy U, hwqupwynpu 5 E, hwpmnipwynpu 3 £, pundwtiynid Bl 100-h:

Mun.
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30045
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94




95




96




97




98




99




100




101




102




103




104




105




106




107




108




109




110




	ԱՌԱՋԱԴՐԱՆՔՆԵՐԻ  ՓԱԹԵԹ

